FHETHRRET RS KEYTHR

$H6E12526H BIRFEHE 18,010 kg
£ REHESE 4,930 kg
% E REMES EEHE T REHE B4 %8
(kg) (kg) =iE & =8

ECHER 2,000 |&Y 4 2 1,000 2,430 1,620 1,188
M ER B 4 2 1,000 — 1,188 —
HL 200 (&Y 0 — —- —
AT ERE| RisE 200 918 756 378
=g 100 |&Y 0 — — —
M ER B HiRE 100 648 432 324
b L 80 &Y 0 — — —
FEE S| SFE 80 756 432 324
£FEH 500 (&Y 0 — —- —
AT EN S IR g R 500 3, 402 1,620 1,296
LAy 50 |#Y 0 — — ——
M ERE] EHE 50 — 2,376 —
Mo E 0 |&Y 0 — — —
AR B 0 — — —
SAE 0 |[&Y 0 — — —
I ER S 0 — — —
oD it £ 2,000 |£A% —- 2,000 — — —




FHETHRRET RS KEYTHR

S HI6E12526H BIRFEHE 18,010 kg
MERA REHESE 4,700 kg
F&E BT EE SEEAE FEH R E BRSE &8
(kg) (kg) =iE & =8

ZU 600 [&Y 0 — — —
FExER ] B 600 4,536 3,780 2,160
N 800 |+ Y 0 — — —
GEpSivE] B 800 8,100 4,104 2,484
B 200 (€Y 0 — __ -
FE*ER 3] D 200 2,160 1,944 1,620
=+ 200 (&Y 0 — — —
EFSiE] itisE 200 2,160 1,512 1,188
[F=TH 400 | &Y 0 — " .
FE*TER 3| itisE 400 6, 480 4,104 1, 404
LA 500 &Y 0 — — ——
FE*ER | EHE 500 4, 860 2,160 1,296
X)) 0 &Y 0 — — —
FETER 3| 0 — — —
DA ERA 2,000 |&K5:% - 2,000 —- - —




FHETHRRET RS KEYTHR

LRIGEIZH26H HRRTEHE 18,010 kg
BEFmMIG REHEESE 8,380 kg
I BRFEHES TEAE FEH HRFEE BRcE4E
(kg) (kg) =iE & =8

5 300 | €Y 0 — — —
HE*TER S| dtiEE 300 2,316 1,728 1,080

EXH 50 |t&UY 0 — — —
HExtERE| dtimE 90 3,240 2,430 1,620

e AR 50 |[EUY 0 — -— —
izpopiE] dbiEE 50 15,120 10, 800 6, 480
BRTF 100 (€Y 0 - —— ——
HEXTES| fahE 2 100 5,940 3,780 1,620
y::Bi 3,000 (VY 0 — S —
HE*TER S| EHEHE 3,000 2,376 1,620 486
Af-C 180 |& Y 0 — — —
HE*TER S| IR 180 3, 780 3, 456 3,024
BE S 2,700 |&UY 0 S - —
HEXTE S| R 2,700 1,300 950 595
hoEFMMT 2,000 |&AH% — 2,000 — - —




